
Write the correct answer
(using commutative property) 

Name: _______________________                                                   Date: ____ / ____ / ________
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Solution : 

L.H.S = R.H.S

1) A = 24, B = 27. Find the commutative property of addition ?

A + B = B + A

24 + 27

=  51

L.H.S :

A + B = 27 + 24

=  51

R.H.S :

B + A =

Solution : 

2) A = 31, B = 29. Find the commutative property of addition ?

Solution : 

3) A = 52, B = 35. Find the commutative property of addition ?



Name: _______________________                                                   Date: ____ / ____ / ________
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Solution : 

4) A = 36, B = 38. Find the commutative property of addition ?

Solution : 

5) A = 42, B = 50. Find the commutative property of addition ?

Solution : 

6) A = 19, B = 26. Find the commutative property of addition ?

Write the correct answer
(using commutative property) 
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